) ot /1 - 4

Racing Screers

- INFILL PANEL S ADAPTABLE TO

BMW R NINE T

SCRAMBLER/ RACER/ PURE/ URBAN{G/EURBAN S

|

Ref.: 9590

© ALLEN & TORX
N° 2,5
Ne 3 N° T25
-
w -\ Easy
) D
1 person 40 min

DESCRIPTION ‘QTY

Right side cover (R)

REF

SOPEMB--14-9590

Left side cover (L)

SOPEMB--14-9590

Right metal suport (R)

SOPOR-2P-7-9590

Left metal suport (L)

SOPOR-2P-7-9590

M5x20 @11 1SO7380 Allen Inox screw

M4x10 @7 1SO7380 Allen Inox screw 6 TORNI-I7380_753

@45 x @11 x 2mm Rubber washer 6 ARAND-EPDM__ 722

M4x0.5mm nylon washer 6 | ARNV00000000311

@14 x @8 x 6mm arrowhead 4 CAsSQUI 208
4

TORNI-17380_730

Stickers set

ADHESI 248




BANAG/LURBAN S

L

o
L
=
=
(o'
=
=
(aa)]

O
—
Ll
—
(aa]
=
o_
>
a
<<
v
&
L
=
M
-
—
T
=

y /

NV

gmwwmw =D
Ve

- MOUNTING INSTRUCTIONS -

ey

SCRAMBLER/ RACER/ PURE/UR:

Racing Screers

Pg. 2/3



) ot /- 4

Racing Screers

- INFILL PANELS ADAPTABLE TO -

BMW R NINE T . o
SCRAMBLER/ RACER/ PURE( l{Nf@i_’/pURBAN S

- MOUNTING INSTRUCTIONS -

LEFT SIDE DISASSEMBLY

ﬁ@&ﬂ



https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html

